
Ex/Phy.EDN/UG/CC-102/98/2019

BACHELOR OF PHYSICAL EDUCATION EXAMINATION, 2019

( 1st Year, 1st Semester )

ANATOMY PHYSIOLOGY

PAPER : CC-102

Time : Three hours Full Marks : 70

1. Answer any-three from the following : 2+2+6+5=15

A. Answer the following :

i) Define Artery.

ii) Define 2nd Heart Sound.

iii) Mention the functions of  blood in brief.

iv) Draw and point out the different parts of an Ideal Cell.

B. Answer the following : 2+2+4+4+3=15

i) Define Digestion.

ii) Define B.M.R.

iii) Describe the Digestion of  Carbohydrates in brief.

iv) Draw and point out the Macroscopical Structure of

Kidney.

v) Mention only the functions of  kidneys.

C. Answer the following : 3+4+4+4=15

i) Name the Bones of Upper Limbs in your body.
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ê˛V Ÿª§ˆÏöÓ˚ ˆ˛õ¢#=!°Ó˚ öyü •° É

xV !ò í˛yÎ˚yú ˛yü ó

xyV ~:ê˛yÓ˚öy° Ä •zrê˛yÓ˚öy° •zrê˛yÓ˚ Ü˛fiê˛y° ˆ˛õ¢# §ü)•

•zV ˆ˛õˆÏê˛Ó˚ §yüˆÏöÓ˚ ˆ˛õ¢#§ü)•

{V í˛z˛õˆÏÓ˚Ó˚ §ÓÜ˛!ê˛–

ë˛V A.D.H. •Ó˚ˆÏüyö Ü˛ü «˛Ó˚ˆÏîÓ˚ ú˛ˆÏ° §,‹T ˆÓ˚yà!ê˛ É

xV àÎ˚ê˛yÓ˚ ó xyV í˛yÎ˚yˆÏÓ!ê˛§ ˆü!°ê˛y§ ó

•zV í˛yÎ˚yˆÏÓ!ê˛§ •zö!§!˛õí˛y§ ó {V !ü!:!í˛üy ó
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ii) Describe the following joints (by mentioning only the

Bony formation and their movements ) :

a) Shoulder Joint

b) Hip Joint

iii) Mention the difference between Red and White Muscle

fibres :

iv) Name the following group of  Muscles :

a) Pronators of  forearm.

b) Hamstring Group of  Muscles.

c) Muscles of  Prosterior Abdominal Wall.

d) Calf  Muscles of  Leg.

E. Answer the following : 3+3+9=15

i) Write the function of A.N.S.

ii) Name the twelve Cranial nerves in your body.

iii) Describe the effects of training on following systems :

(Any three)

a) Circulatory System

b) Excretory System

c) Explain the types of  the Muscular Contraction.

d) Endocrine system.

âV ˆï˛yüyÓ˚ ˆòˆÏ•Ó˚ §ÓˆÏã˛Î˚ °¡∫y ôüö#!ê˛Ó˚ öyü í˛zˆÏÕ‘á Ü˛Ó˚ É

xV ˆ@ˇÃê˛ §ƒyˆÏú˛°y§ !¢Ó˚y xyV °ä‰ §ƒyˆÏú˛°y§ !¢Ó˚y ó

•zV í˛z˛õˆÏÓ˚Ó˚ §ÓÜ˛!ê˛ {V ˆÜ˛yˆÏöyê˛y•z öÎ˚–

äV ˆŸªï˛ Ó˚_´ Ü˛!îÜ˛yÓ˚ ˆüyê˛ §Çáƒy É

xV 5ÈÙÈ6 !ü!°Î˚yö†Óà≈!ü!ü. xyV 6ÈÙÈ8 •yçyÓ˚†Óà≈!ü!ü.

•zV 1.5ÈÙÈ4.5†Óà≈!ü!ü. {V ˆÜ˛yˆÏöyê˛y•z öÎ˚–

ã˛V xôÓ˚y (I.V.C.) ü•y!¢Ó˚y à!ë˛ï˛ •Î˚ É

xV í˛yö Ä Óyü •zöê˛yÓ˚öƒy° ç=°yÓ˚ !¢Ó˚y ó

xyV í˛yö Ä Óyü ˆÓ !Ü˛Ä ˆ§ú˛y!°Ü˛ !¢Ó˚y ó

•zV í˛yö Ä Óyü Ü˛üö •z!°Î˚yÜ˛ !¢Ó˚y ó

{V !û˛ï˛Ó˚ ÄÓy•zˆÏÓ˚Ó˚ Ü˛ƒyˆÏÓ˚y!ê˛í˛ ôüö# ó

åÈV Ó«˛ à•¥Ó˚ Ó˚«˛y Ü˛ˆÏÓ˚ É

xV ü!hflÏ‹Ò ó xyV ÎÜ,˛Í ó

•zV ˛õyÜ˛fli!° ó {V ú%˛§ú%˛§ ~ÓÇ •*Í!˛õ[˛–

çV ÓÎ˚É§!¶˛«˛î ~Ó˚ ˛õ)ˆÏÓ≈ ˆ@ˇÃyÌ •Ó˚ˆÏüyö (G.H.) «˛Ó˚î ˆÓ¢# •ˆÏ° É

xV Óyüöc ó xyV ˜òï˛ƒyÜ,˛!ï˛ ó

•zV x!ï˛Ü˛yÎ˚c ó {V !ü!:!í˛üy ó

é˛V Ó˚_´ «˛Ó˚ˆÏîÓ˚ §üÎ˚ É

xV 11ÈÙÈ15 ˆ§ˆÏÜ˛[˛ ó xyV 3ÈÙÈ5 !ü!öê˛ ó

•zV 2ÈÙÈ4 !ü!öê˛ ó {V 10ÈÙÈ20 !ü!öê˛

~èV Óyü x!°® !ö°Î˚ üôƒfli Ü˛˛õy!ê˛Ü˛y ~Ó˚ öyü •° É

xV xƒyÄ!ê≈˛Ü˛ Ü˛˛õy!ê˛Ü˛y ó xyV Óy•zÜ˛y§!˛õí˛ Ü˛˛õy!ê˛Ü˛y ó

•zV ê˛Δy•z‹Òy!˛õí˛ Ü˛˛õy!ê˛Ü˛y ó {V üy•zê˛Δy° Ü˛˛õy!ê˛Ü˛y ó
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v) Total W.B.C. count becomes :

a) 5-6 million/cu.mm,   b) 6-8 thousand/cu.mm,

c) 1.5 lacks-4.5 lacks//cu.mm,    d) None of them

vi) I.V.C. becomes formed by :

a) Right and Left Internal Jugular Vein

b) Right and Left brachiocephalic Vein

c) Right and Left common iliac vein

d) External and Internal Carotid Artery.

vii) Thoracic Cage gives the protection of :

a) Brain,   b) Liver,    c) Stomach,    d) Lungs and Heart.

viii) Increased Secretion of  GH before Puberty is called :

a) Dwarfism,     b) Acromegally,

c) Gigantism,    d) Myxoedma

ix) Normal bleeding time is about :

a) 11-15 sec,   b) 3-5 Min,    c) 2-4 Min,    d) 10-20 Min.

x) Left Atrio Ventricular Orifice becomes guarded by :

a) Aortic Valve,   b) Tricuspid Valve,

c) Pulmonary Valve,    d) Mitral Valve.

•zV Úˆ˛õˆÏê˛Ó˚ !˛õåÈˆÏöÓ˚Û ˆ˛õ¢#§ü)•–

{V ̨õyˆÏÎ˚Ó˚ ‘Calf’ÈÙÈ~Ó˚ ̂ ˛õ¢#§ü)•–

âV !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 2+2+4+2+5=15

1V Úxhsˇ«˛Ó˚y @ˇÃ!siÛÛ ï˛sf Ü˛yˆÏÜ˛ ÓˆÏ°⁄

2V ˆï˛yüyÓ˚ ˆòˆÏ•Ó˚ ÚxhsˇÛ«˛Ó˚y @ˇÃ!si=!°Ó˚Û öyü=!° í˛zˆÏÕ‘á Ü˛Ó˚–

3V åÈ!Ó§• Úü!•°yˆÏòÓ˚ !û˛ï˛ˆÏÓ˚Ó˚ çöö xˆÏDÓ˚Û !Ó!û˛ß¨ xÇ¢

!ã˛!•´ï˛ Ü˛Ó˚–

4V Ú≤ÃŸªy§Û Ü˛yˆÏÜ˛ ÓˆÏ°⁄

5V åÈ!Ó§• Úí˛z˛õÓ˚ Ä !öˆÏã˛Ó˚ Ÿªy§öy°#Ó˚Û àë˛ˆÏöÓ˚ !Ó!û˛ö xÇ¢

!ã˛!•´ï˛ Ü˛Ó˚–

äV !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 3+3+9=15

1V Úfl∫Î˚Ç!e´Î˚ öyû≈˛Û ï˛ˆÏsfÓ˚ Ü˛yÎ≈yÓ°# í˛zˆÏÕ‘á Ü˛Ó˚–

2V ˆï˛yüyÓ˚ ˆòˆÏ•Ó˚ 12 ˆçyí˛¸y Ü˛ˆÏÓ˚y!ê˛Ü˛ fl¨yÎ˚%Ó˚ öyü=!° í˛zˆÏÕ‘á

Ü˛Ó˚–

3V !ö¡¨!°!áï˛ ï˛ˆÏsfÓ˚ í˛z˛õÓ˚ ÓƒyÎ˚yˆÏüÓ˚ ≤Ãû˛yÓ í˛zˆÏÕ‘á Ü˛Ó˚ SˆÎ

ˆÜ˛yˆÏöy !ï˛ö!ê˛V

xV Ó˚_´ §ÇÓ•ö ï˛sf–

xyV ˆÓ˚ã˛ö ï˛sf–

•zV Ú!Ó!û˛ß¨ ≤ÃÜ˛yˆÏÓ˚Ó˚ ˆ˛õ¢# §ÇˆÏÜ˛yã˛öÛÈÙÙÙÈ §ÇˆÏ«˛ˆÏ˛õ í˛zˆÏÕ‘á

Ü˛Ó˚–

{V xhsˇÉ«˛Ó˚y @ˇÃ!si ï˛sf–
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ÓDyö%Óyò

1– !ö¡¨!°!áï˛ ˆÎ ˆÜ˛yˆÏöy !ï˛ö!ê˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 3515=45

Ü˛V !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 2+2+6+5=15

1V ôüö# Ü˛yˆÏÜ˛ ÓˆÏ°⁄

2V Ú!mï˛#Î˚ •*òôù!öÛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄

3V Ó˚ˆÏ_´Ó˚ Ü˛yÎ≈yÓ°# §ÇˆÏ«˛ˆÏ˛õ í˛zˆÏÕ‘á Ü˛Ó˚–

4V åÈ!Ó§• ~Ü˛!ê˛ Úxyò¢≈ ˆÜ˛yˆÏ£ÏÓ˚Û !Ó!û˛ß¨ xÇ¢ !ã˛!•´ï˛ Ü˛Ó˚–

áV !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 2+2+4+4+3=15

1V ˛õ!Ó˚˛õyÜ˛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄

2V ˆüÔ° !Ó˛õyÜ˛#Î˚ •yÓ˚ Ü˛yˆÏÜ˛ ÓˆÏ°⁄

3V Ü˛yˆÏÓ≈y•y•zˆÏí»˛ê˛ ˛õ!Ó˚˛õyÜ˛ !e´Î˚y §ÇˆÏ«˛ˆÏ˛õ Óî≈öy Ü˛Ó˚–

4V Úáy!°ˆÏã˛yˆÏá ˆòáy Ó,ˆÏE˛Ó˚ !Ó!û˛ß¨ xÇ¢ÛÈÙÙÙÈ åÈ!Ó ~ÑˆÏÜ˛ í˛zˆÏÕ‘á

Ü˛Ó˚–

àV !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 3+4+4+4=15

1V ˆï˛yüyÓ˚ ˆòˆÏ•Ó˚ Úí˛zk≈˛yˆÏDÓ˚ x!fliÛ=!°Ó˚ öyü í˛zˆÏÕ‘á Ü˛Ó˚–

2V !ö¡¨!°!áï˛ §!¶˛ §¡∫ˆÏ¶˛ ˆ°á  Sx!fliàë˛ö  Ä  ã˛°ö  í˛zˆÏÕ‘á

Ü˛Ó˚V É

xV flÒ¶˛ §!¶˛    xyV í˛zÓ˚& §!¶˛

3V Úˆ°y!•ï˛Û Ä ÚˆŸªï˛Û ˆ˛õ¢#=FåÈ §ü)ˆÏ•Ó˚ ˛õyÌ≈Ü˛ƒ í˛zˆÏÕ‘á Ü˛Ó˚–

4V !ö¡¨!°!áï˛ ˆ˛õ¢#=FåÈ§ü)ˆÏ•Ó˚ öyü=!° í˛zˆÏÕ‘á Ü˛Ó˚ É

xV ÚÚˆ≤ÃyˆÏöê˛Ó˚§‰ xú˛ ˆú˛yÓ˚ÈÙÈxyü≈§ÛÛ–

xyV Ú•ƒyü!flT…ÇÈÙÈ~Ó˚Û ˆ˛õ¢#§ü)•–
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xi) Name the Muscles of Respiration :

a) The Diaphragm,

b) External & Internal Intercostal,

c) Muscles of the Anterior Abdominal Wall,

d) All of them.

xii) Diminished Secretion of A.D.H.-Produces a clinical

condition :

a) Goitre,

b) Diabetes Mellitus,

c) Diabetes Insipidus,

d) Myxoedma.
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2V ê˛#Ü˛y ˆ°á SˆÎ ˆÜ˛yˆÏöy !ï˛ö!ê˛V É 355=15

1V e´#í˛¸y!ÓˆÏòÓ˚ •*Í!˛õ[˛–

2V âyï˛ ˛õ!Ó˚üyî–

3V x!:ˆÏçö }î–

4V §Óyï˛ ÓƒyÎ˚yü–

5V ˆåÈˆÏ°ˆÏòÓ˚ Ä ˆüˆÏÎ˚ˆÏòÓ˚ ÈÙÙÙÈ ˆ˛õ°!û˛§ ~Ó˚ àë˛öàï˛ ˛õyÌ≈Ü˛ƒ–

3– !ö¡¨!°!áï˛ ≤ÃŸ¿=!°Ó˚ §!ë˛Ü˛ í˛z_Ó˚!ê˛ ˆ°á É SˆÎ ˆÜ˛yö ò¢!ê˛V É

1510=10

Ü˛V ~Ü˛!ê˛ §¡õ)î≈ •*òã˛ˆÏe´Ó˚ §üÎ˚ É

xV .5 ˆ§ˆÏÜ˛[˛ ó xyV .6 ˆ§ˆÏÜ˛[˛ ó

•zV .8 ˆ§ˆÏÜ˛[˛ ó {V .9 ˆ§ˆÏÜ˛[˛–

áV !ö¡¨!°!áï˛ ˆÜ˛yö ôüö#!ê˛Ó˚ Arch of AortÈÙÈ~Ó˚ ˆÌˆÏÜ˛ §Ó˚y§!Ó˚

í˛zÍ˛õ!_ •Î˚ öy É

xV ˆÓ !Ü˛Ä ˆ§ú˛y!°Ü˛ ó

xyV í˛yö Ü˛üö Ü˛ƒyˆÏÓ˚y!ê˛í˛ ôüö#

•zV Óyü Ü˛üö Ü˛ƒyˆÏÓ˚y!ê˛í˛ ôüö#

{V Óyü §yÓˆÏÜœ˛!û˛Î˚yö ôüö#–

àV ÚÓ y!í˛Ü˛y!í≈˛Î˚yÓ˚Û §üÎ˚ üyö%ˆÏ£ÏÓ˚ •*ÍÜ˛¡õö •Î˚ É

xV 100!ê˛ flõö®ˆÏöÓ˚ í˛z˛õˆÏÓ˚ ≤Ã!ï˛ !ü!öˆÏê˛ñ

xyV 60!ê˛ flõ®ˆÏöÓ˚ ö#ˆÏã˛ ≤Ã!ï˛ !ü!öˆÏê˛ ó

•zV 70ÈÙÈ80 flõ®ö ≤Ã!ï˛ !ü!öê˛

{V 90!ê˛ flõ®ö ≤Ã!ï˛ !ü!öˆÏê˛–
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2. Write Short notes on (Any Three) :-

i) Athletic Heart.

ii) Stroke Volume

iii) Oxygen Debt.

iv) Aerobic Exercise.

v) Anatomical difference between Male and Female Pelvis.

3. Mention the correct answer from the following : (M.C.Q.)

(Any ten) :- 1510=10

i) Time taken for one complete Cardiac cycle :

a) .5 Sec.,   b) .6 Sec,    c) .8 Sec,    d) .9 Sec.

ii) Which Artery is not the direct branch of Arch of  Aorta.

a) Brachiocephalic,   b) Right Common Carotid A,

c) Left Common carotid A,    d) Subclavian A Lt.

iii) During Bradycardia the pulse rate becomes :

a) Above 100 bpm,   b) Below 60 bpm,

c) 70-80 bpm,    d) 90 bpm.

iv) Name the longest vein in your body :

a) Great Saphenous Vein,   b) Long Saphenous Vein,

c) All of them,    d) None of them.


